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Chapter 2

Tautology
Antecedent (Fii#2) Problem 2.1
Negate sentences Gk {5/, Problem 2.6)

Truth table CK BE{E3, p2.5)



P2.11

e Clam 1: P = Q;
e ¥claim 1 %57, NIArniedi B i & Truth-
teller, N QR RS
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P 2.8

e Try (1) (Pand Q) or R
(2) P and (Q or R)
* Check the truth table.
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P 2.10

=~ NOT A or B: tH.254r ]

B 2> NOT A;
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Chapter 3

 Contrapositive 1“2', 117 e
« Converse iy
« Negation 75 el DLT



Chapter 4
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. For all, =518 (&5
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P 4.5

o 3L HL AR R BN

e (d) For every girl there is a boy she does
not like.
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P 4.5

. =(Vx, (g(x) — —t(x)));
Cdx, —(g(x) = —t(x));
. dx, = (—g(x) Vv -t (X))
C3x, (g(x) A t(X)).
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